MANUFACTURING LTD.

Item: A (Extended Stakes)

Bunk Item List- A& B

Configurations Part Numbers Description
52" BU-AG4-52 HD 52" Stake Extension
BU-AG6-52 LW 52" Stake Extension
54" BU-A64-54 HD 54" Stake Extension
BU-AG6-54 LW 54" Stake Extension
60" BU-AG64-60 HD 60" Stake Extension
BU-AG6-60 LW 60" Stake Extension

Item: B (Main Stakes)

Configurations

Part Numbers

Description

60" - 5" Bunk Base

BU-A63-5-060-F-086

HD 60" Main Stake - Fixed 8'-6" Bunk

BU-A63-5-060-F-096

HD 60" Main Stake - Fixed 9'-6" Bunk

BU-A65-060-086

LW 60" Main Stake - Fixed 8'-6" Bunk

BU-A65-060-096

LW 60" Main Stake - Fixed 9'-6" Bunk

66" - 5" Bunk Base

BU-A63-5-066-F-086

HD 66" Main Stake - Fixed 8'-6" Bunk

BU-A63-5-066-F-096

HD 66" Main Stake - Fixed 9'-6" Bunk

BU-A65-66-086

LW 66" Main Stake - Fixed 8'-6" Bunk

BU-A65-66-096

LW 66" Main Stake - Fixed 9'-6" Bunk

72" - 5" Bunk Base

BU-A63-5-072-F-086

HD 72" Main Stake - Fixed 8'-6" Bunk

BU-A63-5-072-F-096

HD 72" Main Stake - Fixed 9'-6" Bunk

BU-A65-72-086

LW 72" Main Stake - Fixed 8'-6" Bunk

BU-A65-72-096

LW 72" Main Stake - Fixed 9'-6" Bunk

60" - 8" Bunk Base

BU-A63-8-060-F-086

HD 60" Main Stake - Fixed 8'-6" Bunk

BU-A63-8-060-F-096

HD 60" Main Stake - Fixed 9'-6" Bunk

BU-A63-8-060-OST-086
BU-A63-8-060-OST-096
BU-A63-8-060-T-086
BU-A63-8-060-T-096
BU-A63-8-066-F-086
BU-A63-8-066-F-096
BU-A63-8-066-OST-086
BU-A63-8-066-OST-096
BU-A63-8-066-T-086
BU-A63-8-066-T-096
BU-A35

HD 60" Main Stake - Other Side Tripped 8-6" Bunk
HD 60" Main Stake - Other Side Tripped 9'-6" Bunk
HD 60" Main Stake - Tripped 8'-6" Bunk

HD 60" Main Stake - Tripped 9'-6" Bunk

HD 66" Main Stake - Fixed 8'-6" Bunk

HD 66" Main Stake - Fixed 9'-6" Bunk

HD 66" Main Stake - Other Side Tripped 8-6" Bunk

HD 66" Main Stake - Other Side Tripped 9'-6" Bunk
HD 66" Main Stake - Tripped 8-6" Bunk

HD 66" Main Stake - Tripped 9'-6" Bunk
96" Solid Stake

66" - 8" Bunk Base

96" - 5" Bunk Base

www.ansermfg.com Quality Trailer Systems Built for the Long Haul 50




AnseER

MANUFACTURING LTD.

Item: C (Bunk Base)

Bunk Iltem List-C, D, & E

Configurations

Part Numbers

Description

8'-6" Bunk BU-A59-F-086 8'-6" Fixed 8" Bunk Base
BU-A59-T1-086 8'-6" Tripped 1 Side 8" Bunk Base
BU-A59-T2-086 8'-6" Tripped 2 Sides 8" Bunk Base
9'-6" Bunk BU-A59-F-096 9'-6" Fixed 8" Bunk Base

BU-A59-T1-096

9'-6" Tripped 1 Side 8" Bunk Base

BU-A59-T2-096

9'-6" Tripped 2 Sides 8" Bunk Base

Low Pro 8'-6" Bunk

BU-A33-F Low Profile Bunk Base - Fixed
BU-A33-T1 Low Profile Bunk Base - Tripped 1 Side
BU-A33-T2 Low Profile Bunk Base - Tripped 2 Sides

Item: D (Bunk Cable)

Configurations

Part Numbers

Description

21" x12'

WES CAB1

Cable, Bunk - 8'-6" Bunks

91" x13'

WES CAB2

Cable, Bunk - 9'-6" Bunks

Item: E (Bunk Riser - FB)

Configurations Part Numbers Description
8'-6" Bunk BU-A21-086-HD Heavy Duty 8'-6" Bunk Riser
BU-A21-086-LW Light Weight 8'-6" Bunk Riser
9'-6" Bunk BU-A21-096-HD Heavy Duty 9'-6" Bunk Riser
BU-A21-096-LW Light Weight 9'-6" Bunk Riser
www.ansermfg.com Quality Trailer Systems Built for the Long Haul 51




A|\|SER Bunks - 8” Tripped Two Sides

MANUFACTURING LTD.

Detailed View of Stake Hinge

Section View of Main Stake
Section View of Bunk Base

Configurations: 8" Tripped 2 Sides (T2S-8)

BU-GA-T23-8-086-60-60 T2S 8" Bunk Base x 86" with 60" Main Stakes and 60" Ext.
BU-GA-T2S-8-086-66-52 T2S 8" Bunk Base x 8'-6" with 66" Main Stakes and 52" Ext.
BU-GA-T2S-8-096-60-60 T2S 8" Bunk Base x 9'-6" with 60" Main Stakes and 60" Ext.
BU-GA-T25-8-096-66-52 T2S 8" Bunk Base x 9'-6" with 66" Main Stakes and 52" Ext.

www.ansermfg.com Quality Trailer Systems Built for the Long Haul 52




AnseER

MANUFACTURING LTD.

Bunks - 8” Tripped Two Sides

Item |Part Number Description Qty
1 [BU-A15 Stake Trip Unit 2
2 |BU-A16 Cable Anchor 2
3 [BU-A17 Cable Guide 4
4 |ANS BB1.5-11 Stake Bolt - 11" 2
5 |ANS U3082-23 Knob Quick Fix Cast 1" 2
6 |JANS U3082-25 Trip Cable Bell 2
7 |ANS U3082-12 Stake Cable Guide Casting 2
8 |[BU-COM-018 Stake Bolt Lock - 4in 4
9 |BU-COM-022 Hinge Plate 4
10 |[BU-COM-023 HD Main Stake Mid Wrapper 2
11 |BU-COM-024 HD Main Stake Top Wrapper 2
12 |BU-COM-025 Hinge Bushing 4
13 |BU-COM-026 Chainlink Round 2
14 |BU-COM-031 Chainlink Square 2
15 |BU-COM-034 4" Extension Bushing 2
16 |PFS LNN8C78P Nut, Nyloc, Hex 7/8" UNC 2
17 |PFS CSH8C78-712P Capscrew, Hex 7/8" UNC x 7 1/2", GD8, Plated 2
18 |PFS JN8C112 Nut, Jam, Hex 1 1/2" UNC 4
19 |ANS E-006 Spring Bunk / Reach (2 3/16 " x 25 3/4" x 3/8") 2
20 |ANS M-E-2.5 X 34.5 Spring Bunk / Reach (2 1/2" x 34 1/2" x 1/2") 1
21 [IKW X-1212 Load Flag 2
22 |TRL 33050Y 33 Series LED Yellow Round 3/4" Light w/ Grommet 2

www.ansermfg.com

Quality Trailer Systems Built for the Long Haul

53




A|\|SER Bunks - 8” Tripped One Side

MANUFACTURING LTD.

Detailed View of Stake Hinge

Section View of Main Stake

Section View of Bunk Base

Configurations: 8" Tripped One Side (T1S-8)
BU-GA-T1S-8-086-60-60
BU-GA-T1S-8-086-66-52
BU-GA-T1S-8-096-60-60
BU-GA-T1S-8-096-66-52

T1S 8" Bunk Base x 8'-6" with 60" Main Stakes and 60" Ext.
T1S 8" Bunk Base x 8'-6" with 66" Main Stakes and 52" Ext.
T1S 8" Bunk Base x 9'-6" with 60" Main Stakes and 60" Ext.
T1S 8" Bunk Base x 9'-6" with 66" Main Stakes and 52" Ext.

www.ansermfg.com Quality Trailer Systems Built for the Long Haul 54




AnseER

MANUFACTURING LTD.

Bunks - 8” Tripped One Side

Item |Part Number Description Qty
1 [BU-A15 Stake Trip Unit 1
2 |BU-A16 Cable Anchor 1
3 [BU-A17 Cable Guide 2
4 |BU-A20-001 8" Gusset Spacer 1
5 |ANS BB1.5-11 Stake Bolt - 11" 1
6 |ANS U3082-23 Knob Quick Fix Cast 1" 1
7 |ANS U3082-25 Trip Cable Bell 1
8 |ANS U3082-12 Stake Cable Guide Casting 1
9 |BU-COM-012 Small Bunk Gusset 2
10 |BU-COM-018 Stake Bolt Lock - 4in 2
11 |BU-COM-022 Hinge Plate 4
12 |BU-COM-023 HD Main Stake Mid Wrapper 2
13 |BU-COM-024 HD Main Stake Top Wrapper 2
14 |BU-COM-025 Hinge Bushing 4
15 |BU-COM-026 Chainlink Round 2
16 |BU-COM-031 Chainlink Square 2
17 |BU-COM-034 4" Extension Bushing 2
18 |PFS LNN8C78P Nut, Nyloc, Hex 7/8" UNC 2
19 |PFS CSH8C78-712P Capscrew, Hex 7/8" UNC x 7 1/2", GD8, Plated 2
20 [PFS JN8C112 Nut, Jam, Hex 1 1/2" UNC 2
21 |ANS E-006 Spring Bunk / Reach (2 3/16 " x 25 3/4" x 3/8") 2
22 |ANS M-E-2.5 X 34.5 Spring Bunk / Reach (2 1/2" x 34 1/2" x 1/2") 1
23 [IKW X-1212 Load Flag 2
24 |TRL 33050Y 33 Series LED Yellow Round 3/4" Light w/ Grommet 2

www.ansermfg.com

Quality Trailer Systems Built for the Long Haul

55




AnNseER Bunks - 8 Fixed

MANUFACTURING LTD.

Section View of Main Stake

Configurations: 8" Fixed (F-8)
BU-GA-F-8-086-60-60
BU-GA-F-8-086-66-52
BU-GA-F-8-096-60-60
BU-GA-F-8-096-66-52

Fixed 8" Bunk Base x 8'-6" with 60" Main Stakes and 60" Ext.
Fixed 8" Bunk Base x 8'-6" with 66" Main Stakes and 52" Ext.
Fixed 8" Bunk Base x 9'-6" with 60" Main Stakes and 60" Ext.
Fixed 8" Bunk Base x 9'-6" with 66" Main Stakes and 52" Ext.

www.ansermfg.com Quality Trailer Systems Built for the Long Haul 56




AnseER

MANUFACTURING LTD.

Bunks - 8” Fixed

Item |Part Number Description Qty
1 |BU-COM-012 Small Bunk Gusset 4
2 |BU-A20-001 8" Gusset Spacer 2
3 |BU-COM-022 Hinge Plate 4
4 [BU-COM-023 HD Main Stake Mid Wrapper 2
5 |BU-COM-024 HD Main Stake Top Wrapper 2
6 [BU-COM-025 Hinge Bushing 4
7 |BU-COM-026 Chainlink Round 2
8 |BU-COM-034 4" Extension Bushing 2
9 |[|PFS CSH8C78-712P Capscrew, Hex 7/8" UNC x 7 1/2", GD8, Plated 2
10 |PFS LNN8C78P Nut, Nyloc, Hex 7/8" UNC 2
11 |ANS E-006 Spring Bunk / Reach (2 3/16 " x 25 3/4" x 3/8") 2
12 |IKW X-1212 Load Flag 2
13 |TRL 33050Y 33 Series LED Yellow Round 3/4" Light w/ Grommet 1

www.ansermfg.com

Quality Trailer Systems Built for the Long Haul

57




AnNseER Bunks - 5” Fixed

MANUFACTURING LTD.

)

/@
/@

L

il

Section View of Main Stake

Configurations: 5" Fixed (F-5)

BU-GA-F-5-086-60-60 Fixed 5" Bunk Base x 8'-6" with 60" Main Stakes and 60" Ext.
BU-GA-F-5-086-66-52 Fixed 5" Bunk Base x 8'-6" with 66" Main Stakes and 52" Ext.
BU-GA-F-5-086-72-54 Fixed 5" Bunk Base x 8-6" with 72" Main Stakes and 54" Ext.
BU-GA-F-5-086-72-54-FB Fixed 5" Bunk Base x 8'-6" with 72" Main Stakes and 54" Ext. and Bunk Riser
BU-GA-F-5-096-60-60 Fixed 5" Bunk Base x 9'-6" with 60" Main Stakes and 60" Ext.
BU-GA-F-5-096-66-52 Fixed 5" Bunk Base x 96" with 66" Main Stakes and 52" Ext.
BU-GA-F-5-096-72-54 Fixed 5" Bunk Base x 9'-6" with 72" Main Stakes and 54" Ext.
BU-GA-F-5-096-72-54-FB Fixed 5" Bunk Base x 9'-6" with 72" Main Stakes and 54" Ext. and Bunk Riser

www.ansermfg.com Quality Trailer Systems Built for the Long Haul 58




AnseER

MANUFACTURING LTD.

Bunks - 5” Fixed

Item |Part Number Description Qty
1 [BU-COM-012 Small Bunk Gusset 4
2 |BU-COM-022 Hinge Plate 4
3 |BU-COM-023 HD Main Stake Mid Wrapper 2
4 [BU-COM-024 HD Main Stake Top Wrapper 2
5 |BU-COM-025 Hinge Bushing 4
6 [BU-COM-026 Chainlink Round 2
7 |BU-COM-034 4" Extension Bushing 2
8 |PFS CSH8C78-712P Capscrew, Hex 7/8" UNC x 7 1/2", GD8, Plated 2
9 |PFS LNN8C78P Nut, Nyloc, Hex 7/8" UNC 2
10 |ANS E-006 Spring Bunk / Reach (2 3/16 " x 25 3/4" x 3/8") 2
11 |BU-A19-001 5" Bunk Spacer 2
12 |BU-A61 LW Bunk Rail Clip 2
13 |TRL 33050Y 33 Series LED Yellow Round 3/4" Light w/ Grommet 2
14 |IKW X-1212 Load Flag 2

www.ansermfg.com

Quality Trailer Systems Built for the Long Haul

59




Aniser Bunks - 5” Light Weight Fixed

MANUFACTURING LTD.

Section View of Main Stake

Configurations: 5" Light Weight (LWF-5)

BU-GA-LWF-5-086-60-60 LWF 5" Bunk Base x 8-6" with 60" Main Stakes and 60" Ext.
BU-GA-LWF-5-086-66-52 LWF 5" Bunk Base x 8-6" with 66" Main Stakes and 52" Ext.
BU-GA-LWF-5-086-72-54 LWF 5" Bunk Base x 8-6" with 72" Main Stakes and 54" Ext.
BU-GA-LWF-5-086-72-54-FB LWF 5" Bunk Base x 86" with 72" Main Stakes and 54" Ext. and Bunk Riser
BU-GA-LWF-5-096-60-60 LWF 5" Bunk Base x 9-6" with 60" Main Stakes and 60" Ext.
BU-GA-LWF-5-096-66-52 LWF 5" Bunk Base x 9-6" with 66" Main Stakes and 52" Ext.
BU-GA-LWF-5-096-72-54 LWF 5" Bunk Base x 9-6" with 72" Main Stakes and 54" Ext.
BU-GA-LWF-5-096-72-54-FB LWF 5" Bunk Base x 9-6" with 72" Main Stakes and 54" Ext. and Bunk Riser

www.ansermfg.com Quality Trailer Systems Built for the Long Haul 60




AnseER

MANUFACTURING LTD.

Bunks - 5” Light Weight Fixed

Item |Part Number Description Qty
1 |BU-A61 LW Bunk Rail Clip 2
2 [BU-COM-026 Chainlink Round 2
3 |BU-COM-034 4" Extension Bushing 2
4 [BU-COM-051 LW Top Wrapper 2
5 |BU-COM-055 LW Hinge Bushing 4
6 |BU-COM-056 LW Bushing Plate 4
7 |BU-COM-063 LW Bunk Gusset 4
8 |PFS CSH8C78-7P Capscrew, Hex 7/8" UNC x 7", GD8, Plated 2
9 |PFS LNN8C78P Nut, Nyloc, Hex 7/8" UNC 2
10 |ANS E-006 Spring Bunk / Reach (2 3/16 " x 25 3/4" x 3/8") 2
11 |IKW X-1212 Load Flag 2
12 |TRL 33050Y 33 Series LED Yellow Round 3/4" Light w/ Grommet 4

www.ansermfg.com

Quality Trailer Systems Built for the Long Haul

61




Aniser Bunks - LoPro Fixed

MANUFACTURING LTD.

oM
O

Section View of Main Stake

Configurations: LoPro - Fixed (F)

BU-GA15-F-60-54 Fixed LoPro with 60" Main Stake and 54" Ext.
BU-GA15-F-60-60 Fixed LoPro with 60" Main Stake and 60" Ext.
BU-GA15-F-66-54 Fixed LoPro with 66" Main Stake and 54" Ext.
BU-GA15-F-66-60 Fixed LoPro with 66" Main Stake and 60" Ext.
BU-GA15-F-72-54 Fixed LoPro with 72" Main Stake and 54" Ext.
BU-GA15-F-72-60 Fixed LoPro with 72" Main Stake and 60" Ext.

www.ansermfg.com Quality Trailer Systems Built for the Long Haul 62




Aniser Bunks - LoPro Fixed

MANUFACTURING LTD.

Item |Part Number Description Qty
1 |BU-A20-001 8" Gusset Spacer 2
2 |[BU-A33-003 Low Profile Top Plate Plug 1
3 |BU-COM-012 Small Bunk Gusset 4
4 [BU-COM-022 Hinge Plate 4
5 |BU-COM-023 HD Main Stake Mid Wrapper 2
6 |BU-COM-024 HD Main Stake Top Wrapper 2
7 |BU-COM-025 Hinge Bushing 4
8 |BU-COM-026 Chainlink Round 2
9 |BU-COM-034 4" Extension Bushing 2
10 |PFS CSH8C78-712P Capscrew, Hex 7/8" UNC x 7 1/2", GD8, Plated 2
11 |PFS LNN8C78P Nut, Nyloc, Hex 7/8" UNC 2
12 |ANS E-006 Spring Bunk / Reach (2 3/16 " x 25 3/4" x 3/8") 2

www.ansermfg.com Quality Trailer Systems Built for the Long Haul 63




A|\|SER Bunks - LoPro Tripped 1 Side

MANUFACTURING LTD.

Detailed View of Stake Hinge

Section View of Main Stake

Section View of Bunk Base

Configurations: LoPro - Tripped 1 Side (T1S)

BU-GA15-T1S-60-60 T1S LoPro with 60" Main Stake and 60" Ext.
BU-GA15-T1S-66-54 T1S LoPro with 66" Main Stake and 54" Ext.
BU-GA15-T1S-60-60 T1S LoPro with 60" Main Stake and 60" Ext.
BU-GA15-T1S-66-54 T1S LoPro with 66" Main Stake and 54" Ext.

www.ansermfg.com Quality Trailer Systems Built for the Long Haul 64




AnseER

MANUFACTURING LTD.

Bunks - LoPro Tripped 1 Side

Item |Part Number Description Qty
1 [BU-A15 Stake Trip Unit 1
2 |BU-A16 Cable Anchor 1
3 [BU-A17 Cable Guide 2
4 |BU-A20-001 8" Gusset Spacer 1
5 |BU-A33-003 Low Profile Top Plate Plug 1
6 |BU-COM-012 Small Bunk Gusset 2
7 |BU-COM-018 Stake Bolt Lock - 4in 2
8 |BU-COM-022 Hinge Plate 4
9 |BU-COM-023 HD Main Stake Mid Wrapper 2
10 |[BU-COM-024 HD Main Stake Top Wrapper 2
11 |BU-COM-025 Hinge Bushing 4
12 |BU-COM-026 Chainlink Round 2
13 |BU-COM-031 Chainlink Square 2
14 |BU-COM-034 4" Extension Bushing 2
15 |ANS BB1.5-11 Stake Bolt - 11" 1
16 |ANS U3082-12 Stake Cable Guide Casting 1
17 |ANS U3082-23 Knob Quick Fix Cast 1" 1
18 |ANS U3082-25 Trip Cable Bell 1
19 |PFS CSH8C78-712P Capscrew, Hex 7/8" UNC x 7 1/2", GD8, Plated 2
20 |PFS LNN8C78P Nut, Nyloc, Hex 7/8" UNC 2
21 |PFS UN8C112 Nut, Jam, Hex 1 1/2" UNC 2
22 |ANS E-006 Spring Bunk / Reach (2 3/16 " x 25 3/4" x 3/8") 2
23 |ANS M-E-2.5X 34.5 Spring Bunk / Reach (2 1/2" x 34 1/2" x 1/2") 1

www.ansermfg.com Quality Trailer Systems Built for the Long Haul 65




A|\|SER Bunks - LoPro Tripped 2 Sides

MANUFACTURING LTD.

Section View of Main Stake

Section View of Bunk Base

Configurations: LoPro - Tripped 2 Sides (T2S)

BU-GA15-T28-60-60 T2S LoPro with 60" Main Stake and 60" Ext.
BU-GA15-T25-66-54 T2S LoPro with 66" Main Stake and 54" Ext.
BU-GA15-T28-60-60 T2S LoPro with 60" Main Stake and 60" Ext.
BU-GA15-T2S-66-54 T2S LoPro with 66" Main Stake and 54" Ext.

www.ansermfg.com Quality Trailer Systems Built for the Long Haul 66




AnseER

MANUFACTURING LTD.

Bunks - LoPro Tripped 2 Sides

Item |Part Number Description Qty
1 [BU-A15 Stake Trip Unit 2
2 |BU-A16 Cable Anchor 2
3 [BU-A17 Cable Guide 4
4 |BU-A33-003 Low Profile Top Plate Plug 1
5 |BU-COM-018 Stake Bolt Lock - 4in 4
6 |BU-COM-024 HD Main Stake Top Wrapper 2
7 |BU-COM-023 HD Main Stake Mid Wrapper 2
8 |BU-COM-022 Hinge Plate 4
9 |BU-COM-025 Hinge Bushing 4
10 |BU-COM-026 Chainlink Round 2
11 |BU-COM-031 Chainlink Square 2
12 |BU-COM-034 4" Extension Bushing 2
13 |ANS BB1.5-11 Stake Bolt - 11" 2
14 |ANS U3082-12 Stake Cable Guide Casting 2
15 |ANS U3082-23 Knob Quick Fix Cast 1" 2
16 |ANS U3082-25 Trip Cable Bell 2
17 |PFS CSH8C78-712P Capscrew, Hex 7/8" UNC x 7 1/2", GD8, Plated 2
18 |PFS LNN8C78P Nut, Nyloc, Hex 7/8" UNC 2
19 |PFS JN8C112 Nut, Jam, Hex 1 1/2" UNC 4
20 |ANS E-006 Spring Bunk / Reach (2 3/16 " x 25 3/4" x 3/8") 2
21 |ANS M-E-2.5X 34.5 Spring Bunk / Reach (2 1/2" x 34 1/2" x 1/2") 1

www.ansermfg.com

Quality Trailer Systems Built for the Long Haul

67




Aniser Bunks - Hayrack with 96” Stakes

MANUFACTURING LTD.

Configurations: Hayrack

BU-GA13-F 8' 6" Hayrack Base c/w 96" Stake

Item |Part Number Description Qty
1 |BU-A10 Hayrack Clip 2
2 |BU-A18-003 96" Hayrack Gusset Spacer 2
3 |BU-A35 96" Solid Stake 2
4 [BU-A62-086 5" Bunk Base 1
5 |BU-COM-012 Small Bunk Gusset 4

www.ansermfg.com Quality Trailer Systems Built for the Long Haul 68




Bunk Clips - Hayrack, Quad-Axle

MANUFACTURING LTD.

Hayrack Bunk Clip - BU-A10

Item [Part Number Description Qty
1 [BU-A10-S01 Upper Clip 2
2 |BU-A10-S02 Bottom Clip 2
3 |PFS CSH8C34-212P |Capscrew, Hex 3/4" UNC x 2 1/2", GD8, Plated | 4
4 |PFS FW834zZD Washer, Flat, 3/4" GD8, Zinc Dipped 4
5 |PFS LNN8C34P Nut, Nyloc, Hex 3/4" UNC 4

Quad Axle Bunk Clip - BU-A61

Item [Part Number Description Qty
1 |BU-A61-001 Rail Mounting Plate 1
2 |BU-A14-002 T-Rail Gusset 4

Quad Axle Bunk Clip - Truck - BU-A61-T1 (Bearing Plate)

Item |Part Number Description Qty
1 |COM-124-01 14.5" T-Rail 1
2 |COM-124-02 Gusset 3
3 [S18300890-013 Scale Load Cell, SI Kiwi 14.5 in. 1
4 |BU-A61-001 Rail Mounting Plate 1
5 [BU-A14-002 T-Rail Gusset 4
6 [S163-00090-01 Bearing Plate 2
7 |PFS CSH8F118-314P [Capscrew, Hex 1 1/8" UNF x 3 1/4", GD8, Plated | 2
8 |PFS FwW8118zZD \Washer, Flat, 1 1/8", GD8, Zinc Dipped 2
9 |PFS CSH8F1-134P  [Capscrew, Hex 1" UNC x 1 3/4", GDS8, Plated 2
10 |PFS FW81zZD \Washer, Flat, 1", GD8, Zinc Dipped 2

Quad Axle Bunk Clip - Truck - BU-A61-T2 (Bolt Through)

< >< : > Item |Part Number Description Qty
1 |COM-124-01 14.5" T-Rail 1
h - 2 |COM-124-02 Gusset 3
3 |BU-A61-001-T Rail Mounting Plate - Truck 1
4 |BU-A14-002 T-Rail Gusset 4
5 |SI8300890-013 Scale Load Cell, Sl Kiwi 14.5 in. 1
6 |BU-A61-003 Square Washer 2
7 |PFS FW8118ZD Washer, Flat, 1 1/8", GD8, Zinc Dipped 4
8 |PFS CSH8F118-412P [Capscrew, Hex 1 1/8" UNF x 4 1/2", GD8, Plated | 2
9 |PFS CSH8F1-134P  [Capscrew, Hex 1" UNC x 1 3/4", GD8, Plated 2
10 |PFS FW81zD Washer, Flat, 1", GD8, Zinc Dipped 2
11 |PFS RNH8F118P Nut, Regular, Hex 1 1/8" UNF, GD8 2

www.ansermfg.com Quality Trailer Systems Built for the Long Haul 69




AnseER

MANUFACTURING LTD.

Bunk Clips - Tri-Axle, Truck

Tri-Axle Bunk Clip - BU-A49 (Either 5” or 8” Bunk Base)

Item |Part Number Description Qty

1 |BU-A12 5" Trailer Bunk Clip 1
BU-A13 8" Trailer Bunk Clip 1
BU-A24 Bunk Clip Pin 2
BU-COM-003 5" Bunk Base Support 1
BU-COM-004 8" Bunk Base Support 1
S163-00090-01 Bearing Plate 2
BU-COM-040 Kiwi Base 1
BU-COM-041 Kiwi Base Gusset 3
SI8300890-013 Scale Load Cell, SI Kiwi 14.5 in. 1
PFS CSH8F1-134P  |Capscrew, Hex 1" UNC x 1 3/4", GD8, Plated 2
PFS FW81ZD Washer, Flat, 1", GD8, Zinc Dipped 2
PFS CSH8F118-314P |Capscrew, Hex 1 1/8" UNF x 3 1/4", GD8, Plated| 2

11 |PFS FW8118zD Washer, Flat, 1 1/8", GD8, Zinc Dipped 2

Truck Bunk Clip - BU-A05 (Either 5” or 8” Bunk Base)

Item [Part Number Description Qty
1 [COM-124-01 14.5" T-Rail 1
2 |COM-124-02 Gusset 3
3 |SI18300890-013 Scale Load Cell, Sl Kiwi 14.5 in. 1
4 |BU-A12 5" Trailer Bunk Clip 1

BU-A13 8" Trailer Bunk Clip 1

5 |S163-00090-01 Bearing Plate 2
BU-A24 Bunk Clip Pin 2
BU-COM-003 5" Bunk Base Support 1
BU-COM-004 8" Bunk Base Support 1
PFS CSH8F118-314P |Capscrew, Hex 1 1/8" UNF x 3 1/4", GD8, Plated| 2
PFS FW8118zD Washer, Flat, 1 1/8", GD8, Zinc Dipped 2

10 |PFS CSH8F1-134P  |Capscrew, Hex 1" UNC x 1 3/4", GD8, Plated 2

11 |PFS FW81zD Washer, Flat, 1", GD8, Zinc Dipped 2
www.ansermfg.com Quality Trailer Systems Built for the Long Haul 70




